Wchigvers

>

RRB NTPC Practice Set - 1

10.
11

12.
13.

14,

15.

16.

17.

18.

19.

20.

21.

Answerswith Explanation

(b) @t Ife o)l afslm A«Red SREE" 4=
S |

(c) wirfea gl ML'T (M =o%, L = o), T =
)

(b) =0 FRCEE @ 27 T4 APTS T AT sifaster
@M 22, wiefe AR WY & @R Tl A AT |

(C) ARF SiE AREF G HAPE ANCIG NLGITS
MY S =7 |

(C) *MITeT SRFR ATl BfFe
PV = RT [P = 5i9, V = oo, R = ARG
I &9, T = O]

(a) T f Tefte H, o1 I9=© 27 |

(d) 7T = SR @ otear T sy
(8.1%) | SIFITA FACHCH @ 21 T @ (5%) |
SIGR AT AACHCI @ oS AR SfSICe
(46.6%) |

(c) [iwm &1 PH @3 W9 = 7|

(a) FRCATTCE @eF ST wsf q@n 2w
FREITES @ AfFR @iba toff I o e
BrHACE |

(b) s1f 7% Tfex Zef=tea 9ow za 300 &N |

(C) TFACE Seplersrla AR FOIRCFT Gz
PSANF A AFHEA |

(d) TSIl (rRoigacE oo JceT | e

(c) TR AT oiIfa Tefma (IPU) @3 "M wed
RGN (GO SR/ZS |

(b) ‘The Battle of Belonging 325 anfiret * <lize |

(c) #feSa Izew Ao AN eS|

(C) BTt Tofeifs (il AT SIfEIg Aten Sfifd #1fs
eI |

(a) 7 (AT ARG wiares gfe 2= 2933 &

(d) 2EY! TESFHHTT & @TET @It = {6 72
T 2| (2IIEG @I = {5 2w IR I T
fgfmia smfEniRe qmee |

(b) 5w #Nf63 sma wex fwa NET g
AR |

(d) Jeibm ] Gfele 1939-9 P Vel BT 27
3 (¥ 1939-9 ‘TeIE 35 N7 afed Feaw |

(C) HRATACHR (AT =R S TB! *2 S Sl
B cellals @7 SNeslR TEECEHR SATS @RE
ARG 06 wvE T | R

22.

23.

24.

25.

26.

27.

28.

29.

30.

31

32.

33.

34.

35.

(b) TCS @3 afedet @k @12w CEO Ff5a 5% (1RfeT
o WAl (90 | ©ICF SRR Oy 2@ AR
GRS T 2 |

(c) SeTeT = “SIfeG SIaree 20 » ST SFCEH
SMNEANGH 2021 @ I FAIF SpaIfs (e | oo
TIREFT 20 fortel (@ colfemifs

(c) ™ ST AlTE o SEfPe 2 fa@e |
TCABTITD o1z A SIS (GRS oo fKrea
2R f@sfal FFICaa Ao G2 (T
SIS AR | froRe

(d) SRTST AT TE™ At 2 fe1 it 159w f&-20
ARG w*erzd T | @3 % 28— 'Realising
the opporunities of the 21st century for al'l
a7 AerHifog I G == |

(c) 3zl wfa wae AROITE GizeR 6§29 Fifiese
el e R e e ferore |

(b) FefEenitea (2ot AT ICC-7 (BRI 2AT
e 2tes |

(b) cFzmifa 2023 @ #==S "Women's T-20 World
Cup' SHF® 23 e HFCS | ayfrers

(b) = Gt e “wnface crteme” Sisfifag
SEREOR (Gtetaecs R 2N AFoRf
BizcheT ferets |

(d) &7 (ofzs T-20 fFees oo 231t 1000 ==
ARE FFC FACE |

(a) 2o WRIRERR A Ewifaer HDFC BANK
FI-f5% (Ka-Ching) ST (- (TG G ble]
FACA |

(b) SRTSR 2w FARRE RIZFES WHRE A7
(LNG) vifeTs am1 @a0em (@I *120a Bie] 2911 @2
JMAG Ble] FCACR 'Petronet’ A< |

(8) ST RASITTR T (IRGIE @RS Tz
SEAGA (AT e 29| @F &) OFe @R
AGN pie T TR |

(b) ST ‘GO FCHATRG NG (G I TR
QT2 I -BCHE 6 ble] zeace | «@fo
wiEeGH Bifere falfsm G|

(d) SRTSR Y THRPIT 2eine I ANSH T2=1F
ST JRIE GR 5{Ce *=CI TCH ble] FCZ | Gfoa
Tl FAE difon TP | e




S

36

37

38

39

40

41

42

T - ¥, B - so * GEEIF, 2083

Gyfrered

. (8) “sarS TFRF (AN sr=ifs Energy Transition
Index' e/ Fe1 | 1156 (ead ey 367 A%
21 74| 2N G ACACT 200 |

. (c) T=ifS kT (F-wHAE=E weffiEre== (SCO)
AT Sefre ze1 | AfmE @6 PRl ==
Sced ROMINE @1 Tz @2 TG Siiazel
T | froRe

. (8) 9N TTFBFEIR A0S0 F (AlIB) ©F©
IR QIR 2I*5aRE TR AL 145 fferee S
TR §fE Facz | ARSI witavE el
FCATTHEE TAET @R I AZPE Tafed
ey 3 pie Tl 2R |

. (d) T WS @ (R Srree Sede TR
SATE RGN @G Bl T | G2 A/
SHIT ST TAV CFCG 25 MY @R AT
CFCg 10 =11 BIA #1® el (T |

. (b) stz Fnfecwifean ofee 2izres AE
'SPACE X' SIZIFICx SRSHBIRITHE 2ot | 2eTe
AE @2 T Wes | SPACE X @3 &6 giow
PTG 7o NASA-T SRIPHBIRITE TR
AL |

. (8) W SRIN—

LR
"
|

froRd

we—X

C

5

o

RNy
2 0 4 0 9 7
~FUTURE = 204097
. (a) eperE, A =1
Tear A N D
1x 14 x 4 =56
@eld, C A T
3 x 1x 20 =60

43.

44,

45.

46.

47.

48.

49.
50.

51.
52.
53.
54.
55.
56.
57.

(c) TS ST —

RAMAN-—»18 1 13 1 14

L] + ¢ TT
]

GFEOII,

KAPI LA 11 1 169 12 1

“ fTAA A A
[

~ KAPILA = 111169121

% (SADHLER T ARHETSIR @R AR $gq Prarg
(1) e

e (1) ¢ (1V) 79

(b) @ (i), (ii) CATF oihe AT, 1-aF AN AAnesfr
2o JAGF 6, 4, 2, 31 7ok, 1-a7 Rodre m:4ife
2e 51
TEAR, TFGA AE T4 5 AT O €47 1
AT |

(c) 5@ (i), (iii)) (T =ext TR, Q- == =Tz R,
U, S, PI 3edk, si*i2 Q93 fR=idice =it T

@ (i), (i) © (iii)-cacs F= a7 936 Ragm =i
R 140 6, 3, 2, 5197waRk 16 R [widrs Rz
TRA 41

(d)

(€) 1 (T 2, 3 (UCF Tedhya (c) €3 Fow oifbras
wfEe el »fiafes zrrz|

(d)

@

(d)

(b)

(d)

(b)

(d)

fers



HWehigvers 9
—_— s - S e 3@ S (50 — 15 — 17) = 18 o wia
58. (d) sif*ow 1M : |
9{,4'7% 70. (c) RAMe Ty «i® (AT 1299 B el [Aew
Tog e 11 o 0T =G IR |
. -, €% Afre @6 7@ 77t (11 + 1 + 11) = 23 & |
59. (b) wfEre ez |
6x 100
60. (d) 15f%E | ayfers | L (@ I2—0=5ﬁ‘:
s oRe
15 . A 60 fit. (30)2
E D 2 © Iy = 9% e 23|
32-30
05 . B © ( = jxlOO%:G%% =
74 (@ MEAIAMO=A:B=6:5
60 f. Wwvfr@:5:56:6:5
(@2g, ABCD (b Srersy | S A A =(220x1—1)tm = 100 Bisft
- AD =BC=60f. 7. (0 Ca 1Tﬁmw=(l—i—3jwww
5710 15
. AE=DE-AD=75f.-60f =15f 6.4 2 1
SR, SIfere] @ F (A) (A0 15 . 70 sifoainc =60~ 6030 O ¥I&
e L wnt <ot 1 e
30 '
6l. (c)aabcdabbcdabccdabcdd 1 el 3 = 30 i ot
62. (8 +4 +4+4 +4 +4 15x12 -1
LT 76. (b) =5 ==7% fam|
L
A AL 77. (b) 2T e
63. (C) * i ML =77 | =3600x - 100 100 g5
(100-10) " (100 20)
64. (c) AW Trwpiel : FFeTol T OIZCET AT @ Gl 20 | (el — 5000 3t
I AP Trlel (TS T OIRCH AFETS! WP 7% (@
@R SAGITHAT FICET TN LT 22 | 79. (©
65. (a) (113 - 11) = 1320 8. (0)
(13® - 13) = 2184 8L (d)
66. (d) 13x13=169+1=170+13=183 o 3+2 1« o
17x17=289+1=290+17 =307 G
100 100 100
67. () C>3+0=3 Ec5+1=6 TN | & (@ e s -510:3,1%0.;, 10
GoT+2=9 1 =9+3=12 =5: 61‘;
465
Ke11+4=15 1 DI9I9 S SitR :5+6+4X5:155
68. (C) AT H=8B=2¢R8x2=16=P 5owww:5465 x6=186
+6+4
GFReld, C=3, F=6 9k 3x 6 =18 =R 465
LE=5T=204R4=D;4x5=20 25 T ST SR =gy, 77 4=124
84. (c) =ICeIfFF @l = (8 + 10) = 18 /=Gt
| 3 .
R | ﬁF : e
? B | oAfET @ 18
L 5150w
s1%s 1203 froRe




T - ¥, B - so * GEEIF, 2083

Gyfrered

S
8. (@ A€B-9F @RS =+/9 : /4

e
=12:8
S (9] + AT (I91

2

8. (d) Ife= @l =

2210 Rfi/aeb1
87. (@ A S B-9% (N YU ST

ferd

= {(4 x 3) + (4 - 1) x 7} : {5x3) +
(5-1) x 7}
=(12+21) : (15 + 28)
=33:43
. B-93 sTepiex = 760>< =430
8. (b) ﬁm@ el
31
N o, S
5
; \1 @R
5
et W =3:1
wmemﬁmwwﬁmq:ﬂﬁaﬁwmw
offel = & <t = 60x £ =15t
8. (@
1
0. (¢ 1+2+3+...+nth:n(n;r)
@4it, n = 80
80(80+1
-, B :%:4&81:3240
9L (@ x+y=-z
_ Xyz Xz _ 4
ytz=-x —XX—YX-Z —XyZ
Z+X:_y
R (b) A
B c H D
A ACD, CD =AC
. ZCAD = ZADC oRe
94 Z/CAD + ZADC = 3fz% /ACB
. 2/CAD = 72°
. ZCAD = 36°

.. Z/BAC=(/BAD-/CAD)=(109°-36°)
=73°

3. (a)

%. (b)

- ZABC = 180° -
= 180° - (73° + 72°)

= (180°—145°) =

(/BAC + Z/ACB)

froRd

_AE
"BD EC

DE||BC,

6_4
12 EC

ec-
<, A ADE € A ABC-99 Sty

i) /D=,B
8.)) JE= JC | S G

. AADE ¢ A ABC vrrrgnm% ayfFeRs

. AD _DE
" AB BC
= BC=

18 BC

15 =

WG 37, AB @32 AC v o,

939 AC = afiioE @3k AB = b 3G
ZAOB = 90° €3k ZAOC = 60°

AO = OC = OB = r (71714)

(180° — 60°)

> =60

A AOC-43 ZOCA=Z0AC =

. A AOC «=fb T2 fqwe |
~AO=0C=AC=r
A AOB «f5 Fcaidt fage |
. b? = 2r?

b? = 2&2[AC=a=1]

frerd

b=+2a



Hehigvers @
%. (3 9 97. (d) 1% 54 5 30 ETEFS = (3600 + 54 x 60 + 30)
GG = 6870 G
m R 3951 17 i 29 oo
PRI R = (3 x 3600 + 17 x 60 + 29) = 11849 (TS
. GG T = (11849 — 6870) = 4979 (TS
6 . (G #A25 geIl
= (4979 + 13) + 1= (383 + 1) = 384 d
<. PSP, ZPRS = 90° (Wq2 (blel) B (0 x=2-43
4%, /PSR = 180° — (/SPR + ZPRS) %: 2+4/3 e
= 180° — (15° + 90°) = 75° ok 2 J3i24 B
PQRS 387 bg¥e 263, 4"
Z/PQR + /PSR = 180°
. /PQR = 180° — /PSR ™ © J7++3= (2.65+1.73) = 4.38
= (1807 -757) = 32 =3x141=423
% @ T E> 32
100. (d) CCRWITT footad =iTes = 6 x 5 x 4 = 120 ¥«

A D

AP 1 BC, DQ_LEF

2

3

1
AABC_EXBCXAP_

ADEF 1

— X

2

BC AP 2[ AP 3
= —x—=—|" —=—
EF DQ 3| DQ 4

BC 3 2 BC (2 4) 8

—_—  X—=— D — = —X— ==

EE 4 3 EF (373) 9

.. BC:EF=[8:9]

EFxDQ

o=

RT3 Wa wiTes = 6.2 x 5.2 x 4.2
= 135.408 7 {35

. 2oafeR (NG SiFes = (135.408 — 120) = 15.408
oINS

= 15.408 x 100 x 100 x 100 AR €8
26 3069 oo = 20 x 10 x 5 = 1000 T=ICAN
. ST 3069 AR

_15.408 x 100 x 100 x 100
- 100

= 15408 ~ 15000

fers

— Kk kk——



